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— ~ Given that high speed rail and commercial aircraft are two main passenger transportation
modes available for long-distance trips in a city. Typical travel-time components for
these two modes are listed as follows:

High speed rail
Access origin station 20 min
'Wait for train and board 15 min
...station-to-station main haul... '
Leave train and walk to exit from station S5min -
Access destination point : : 20 min

Commercial aircraft

~Access origin terminal 30 min
Check-in, Walk to gate, and wait 30 min
Board and time until plane leaves gate 15 min
Taxiing and stops until takeoff 10 min
...terminal-to- terminal main haul. .. '
Landing and taxiing to gate . _ 5 min
Permit to open doors, exit, and walk to baggage claim 10 min
Wait for luggage ‘ 15 min
- Walk to exit terminal 5 min
Access destination point | 30 min

In terms of travel time, for which trip distance is the high speed rail more competitive?
Assuming a speed of 300 km/h for high speed rail, and 600 km/h for commercial aircraft.
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EA22 m wide truck with a center of gravity at a height of 1.5 m above the pavement is

traveling on a circular path of radius R =200 m and superelevation e = 0.04. Determine
- the maximum safe speed to avoid both slipping and overturning, assuming that the
coefficient of side frictionis 0.3. (104-)

yASN Using the Webster’s formula ¢ = 1.5L+5  egtimate the optimal cycle length for the
o 1-C§

' intersection shown in the following figure. Assume that phase A serves the north-south
- traffic and phase B serves the east-west traffic. Lost time is equal to 4 s per phase and
yellow plus all red time is equal to 5 s. The prevailing saturation flows are as follows:

s= i,750,for through plus right turn fraffic
s = 320 for left turn traffic
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which reflects a permitted operation. (
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